
本体に付属の部品：マーカートレイ（1個）、サイドカバー（2個）、マーカートレイ取り付けネジM4×8（3本：開梱
時に外したネジ）

パーティションハンガー梱包一覧
パーティションハンガー：2本 ハンガーブラケット：2個 フック：2個

M4×12ネジ：8本 M4×8 皿ネジ：4本 M4×6ネジ：4本

●組み立てと設置の流れ

本品は間仕切り用のハイパーティションパネルにも対応しています。

（2）パーティションハンガーを本体に取

り付けます（4箇所）。
M4×12ネジ（2本づつ）で取り付けます。

パーティションハンガーを 
本体に取り付け 

マーカートレイを 
本体に取り付け 

ハンガーブラケットとフックを 
パーティションハンガーに 

取り付け 

パーティションに 
本体を取り付け 

パーティション 
ハンガー 

M4×12ネジ 

M4×12ネジ 

2

1
3

3

（1）マーカートレイを本体に取り付けます。
(本体付属品）
＊工場出荷時は梱包のため本体に固定されていす。
ネジを外し、向きに注意して取り付けてください。

�付属のマーカートレイの両端にサイドカバーをは

め込みます。
●サイドカバーは右用と左用があります。
�M4×8ネジ3本を本体に仮止め（約3mmぐらい

開ける）します。
�仮止めのネジ（3箇所）にマーカートレイを差し

込み、本締めします。
●サイドカバーおよびマーカートレイは奥まで差し
込んでください。

M4×8ネジ

マーカートレイ

サイドカバー

パーティションハンガー組立説明書
型名　M-5-P

組み立にはコピーボード本体に付属の部品も使用しますのでご用意ください。

●設置および組立は、必ず本書に基づいて行なってください。誤った設置や組立はけがの
原因となります。

●コピーボード本体の取り付け、取り外しには2人以上の人数で行ってください。

警告



（4）ハンガーブラケットにフックを取り付けます。
ハンガーブラケットの上部に M4×6ネジ（2本づつ）で

フックを取り付けます（2箇所）。
● フックは最大幅60 mmになるように仮止めすると引っか

けやすくなります。
● ハンガーブラケットは50～60mmのパネル厚さに適して

います。

（5）本体をパーティションパネルに取
り付ける
フックをパーティションパネルに引っかけ

ます。

パネル幅に合わせてフックを縮めて確実に

挟み込み、フックのネジを本締めします。

フック 

M4×6ネジ 

パーティションパネル

フック

（3）ハンガーブラケットをパーティションハン
ガーの中央のネジ穴に取り付けます（左右）。
● M4×8 皿ネジで取り付けてください。
● パーティションハンガーには上部と中央にハンガーブラ

ケット取り付けネジ穴があります。ハイパーティション

パネルに本体を取り付ける場合は、上部に取り付けてく

ださい。 ハンガーブラケット 

M4×8皿ネジ ハンガーブラケット 

M4×8皿ネジ 

ハイパーティションに取り付け時

● 本体は自重でパーティションに乗っているだけです。下から押
したりして本体を持ち上げる様な事はしないでください。パー
ティションからはずれて本体が落下する場合があります。

● 不安定なパーティションパネルはパネルの脚や支柱を床等に固
定し、転倒防止対策を行ってください。

警告

注意

13-2117-04C



3

1

2

3

Marker tray

Mounting 
the copyboard 
on the partition

Mounting 
the marker tray 
on the copyboard

Mounting 
the partition hangers 
on the copyboard

Mounting the hanger 
brackets and hooks 
on the partition hangers

� Assembly and installation flow

Parts included in the copyboard package : Marker tray (1 pc), side covers (2 pcs), M4 x 8 marker tray installation
screws (3 pcs, screws removed when unpacking)
List of parts included in the partition hanger kit
Partition hangers : 2, Hanger brackets : 2, Hooks : 2, M4 x 12 screws : 8 , M4 x 8  flat head screws : 4  ,
M4 x 6 screws : 4 

(2) Mount the partition hangers onto the
copyboard (fasten at 4 spots).
Use the  M4 x 12 screws (2 each).

Side cover

M4 x 8 screws

(1) Attach the marker tray to the Copyboard.
(Parts included in the copyboard package )

* The marker tray is fixed on the M-5 upside down for
the transportation. Please remove it before you as-
semble the M-5, and then fix it again at the normal
position. (Please make sure the orientation of the
marker tray.)

� Insert the side covers into both ends of the marker
tray.
• Note that there are left and right type side cov-

ers.

� Temporarily fasten the three M4 x 8 screws into the
Copyboard (leaving about 3 mm)
• Use the supplied screwdriver.

� Insert the marker tray over the 3 screws that have
been temporarily fastened, and then tighten se-
curely.
• Please insert the marker tray as far as they

will go.

Partition hanger

M4 screws

M4 screws

• Be sure to install and assemble the copyboard as instructed in this manual. Improper
installation or assembly could lead to injury.

• At least two people should hold the copyboard when installing and removing it.

   WARNINGS

(Model M-5-P)

Partition Hanger Assembly Manual

Note that the parts supplied with the Copyboard will also be used in the assembly.



Partition panel

Hooks

M4 x 8 flat head screws

 Hanger bracket

Hook

M4 x 6 screws

(3) Mount the hanger brackets to the screw holes at the
middle of the partition hangers (left and right).
• Use the  M4 flat head screws.
• The partition hangers have screw holes for mounting hanger

brackets at both the top and middle. Use the top holes when
mounting the copyboard on a tall panel.

(4) Mount the hooks (2) to the tops of the hanger brack-
ets using  M4 x 6 screws (2 each).
• First fasten the hooks loosely to the maximum width of 60 mm

to make it easier to hang the copyboard on the panel.
• The hanger brackets can be used for panels of 50 to 60 mm

thickness.

(5) Mount the copyboard on the partition
panel.
Catch the hooks onto partition panel.
Take the panel in the hooks so as to fit snugly to
the thickness then fully tighten the hooks’ screws.

 WARNING
• The copyboard sits freely on the partition, it is not fixed to it. Do not push the copyboard

upwards or otherwise lift it. Doing so may cause it to come off the partition and drop.

 CAUTION
• If the partition panel is not stable, take the necessary measures to keep it from tipping

over, by for example fastening its feet or struts to the floor, etc.

Tall panel mount position

 Hanger bracket

M4 x 8 flat head screws

13-2117-04C


	日本語
	English

